Stockholms BF
Allsvenskan div 3 match 4 halvlek 1 2013-10-12

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poang Namn MID Klubb
1 39 2.19 Lennart Wiklander - Inga Wasteby 17072 10912 BK Stjarnskotten
2 33 2.09 Margaretha Norbéack - Waldo Whiteman 8660 2111 Lidingé BK
3 1 1.93 Patric Holmberg - Peter Térnblom 17031 2265 BK S:t Erik
4 8 1.44 Gosta Ohlsén - Lars Norback 9285 2809 Lidingdé BK
5 36 1.27 Peter Backlund - Madeleine Swanstrom 244 9227 BK S:t Erik
6 5 1.11 Bengt Lindholm - Lennart Rehle 2242 6599 BK S:t Erik
7 37 0.82 Birgitta Ternblad - Sten Ternblad 1981 9539 BK S:t Erik
8 4 0.71 Bennet Rosengren - Marina Furukvist 8695 8560 BK S:t Erik
9 40 0.19 Ake Sjbberg - Ivar Hjelm 9207 33844 BK S:t Erik
10 9 0.16 Lillemor Strindberg - Margareta Sjéberg 8806 24704  ArlaBK
11 2 -0.16 Gunila Langius - Lars Thanell 13086 9236 BK Stjarnskotten
12 31 -0.19 Ingvar Hogberg - Georg Bryntze 13608 9294 Tyreso BK
13 7 -0.71 Mats Bud - Hans Vestergren 234 33345 BK S:t Erik
14 34 -0.82 Stefan Ekman - Kenneth Béckstrom 18318 9185 BK S:t Erik
15 6 -1.11 Anders Lundqvist - Jan Brolin 2804 9276 BK S:t Erik
16 35 -1.27 Tora Philip - Lars Andersson 7780 13156 BK S:t Erik
17 3 -1.44 Dan Gustafsson - Henrik Ludwigs 38906 10740 BK S:t Erik
18 10 -1.93 Anders Lindgren - Olle Wallin 13951 9246 Tyreso BK
19 38 -2.09 Torbjorn Gullbrandson - Lars Malm 13355 90738 BK S:t Erik
20 32 -2.19 Gudrun Strandberg - Tore Stormo 4143 78250 Arla BK
1 « EK109874 2 « E632 3 4 K8632
Nord v EKn9 Ost v D82 Syd v3
Ingen ¢ Kn105 NS + D32 ov + D92
»- &E83 #7432
a- 4 Kn63 4 KKn104 4985 4D 49
vD108764 v52 vKn73 v 1064 vKn108742 vKD5
+9 ¢ E732 + K54 + E96 + K65 + EKn1074
#EKn9863 #D1075 #752 »D964 *K86 #ED95
4 D52 4 D7 4 EKn10754
vK3 v EK95 v E96
+ KD864 ¢ Kn1087 483
*K42 #KKn10 #Kn10
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Par  Kontr Ut Res Poang
8 3 64 N= v5 980 82.0 -82.0(34 37 3NS+2 #2 660 15.0 50 8 3 34S= vJ 140 95.0 -95.0
36 35 64 N= v6 980 82.0 -82.0(36 35 3NS+1 ¢4 630 5.0 5.0(36 35 44 S-1 vJ -50 67.0 -67.0
39 32 64 N= v5 980 82.0 -82.0(39 32 3NS+1 #2 630 5.0 5.0(40 31 44 S-1 3 -50 67.0 -67.0
4 7 44 N+2 95 480 -13.0 13.0|40 31 3NS+1 43 630 5.0 50 9 2 54DS-2 vJ -300 19.0 -19.0
6 5 44 N+2 &8 480 -130 13.0| 4 7 3NS= 4T 600 -5.0 5.0(39 32 54DN-2 vJ -300 19.0 -19.0
9 2 54 N+1 v5 480 -130 13.0| 6 5 3NN= T 600 -5.0 50 4 7 4v V+1 42 -650 -52.0 52.0
38 33 44 N+2 &5 480 -130 13.0| 8 3 3NS= T 600 -5.0 50 6 5 4y O+1 a2 -650 -52.0 52.0
40 31 54 N+1 ¥3 480 -130 13.0| 9 2 3NS= 44 600 -5.0 50(10 1 5vV= 42 -650 -52.0 52.0
10 1 54DV-1 «A 100 -79.0 79.0|10 1 3NS= T 600 -5.0 5.0(38 33 4y V+1 a2 -650 -52.0 52.0
34 37 74aDN-1 &7 -100 -102.0 102.0|38 33 3NS= 45 600 -5.0 5.0|34 37 4v V+2 &T -680 -59.0 59.0
4 4« EK843 5 « D97 6 4 D8543
Vast vE3 Nord v E86 Ost vE
Alla 496 NS ¢ 654 ov ¢+ D7643
#8532 #D986 &75
4 DKn65 107 4 86 4 E43 4 K72 & EKn
vKn985 v K642 vK732 vDKn vD1098742 v KKn65
¢ EK + DKn84 ¢ KD3 ¢ Kn1098 2 ¢ Kn10985
*E94 #DKn7 #E543 #KKn102 98 #Kn10
492 4« KKn1052 41096
vD107 v 10954 v3
4107532 ¢E72 ¢ EK
K106 &7 &EKD6432
Par  Kontr ut Res Poang Par  Kontr ut Res Par  Kontr ut Res Poéang
34 37 4v V-3 «A 300 56.0 -56.0| 4 7 3NO-2 «T 100 8 3 3NN+1 v7 430 32.0 -32.0
9 2 4v V-2 &K 200 320 -320( 6 5 3NO-2 T 100 36 35 3BNN+1 T 430 320 -32.0
36 35 4v V-2 4A 200 320 -32.0(36 35 BNO-2 42 100 38 33 3NS+1 ¥8 430 32.0 -32.0
39 32 4v V-2 &A 200 320 -32.0(39 32 3NO-2 «T 100 4 7 44 N= v6 420 32.0 -32.0
40 31 4v V-2 &K 200 320 -32.0| 8 3 5#40-1 46 50 6 5 44 N= v8 420 320 -32.0
4 7 3v0O-1 49 100 7.0 701 9 2 3¢ O-1 &7 50 39 32 44 N= v6 420 32.0 -32.0
38 33 4v V-1 8 100 7.0 -7.0140 31 2N O-1 T 50 9 2 5#S=+2 400 250 -25.0
6 5 3v 0= &K -140 440 440(10 1 INO= T -90 10 1 54 N-1 T -50 -68.0 68.0
10 1 INV+2 &A -150 440 44.0|38 33 3&V=&T -110 40 31 64 S-1 ¢4 -50 -68.0 68.0
8 3 3NV= 4 -600 -110.0 110.0|34 37 INV+3 &6 -180 34 37 64 N-2 v5 -100 -81.0 81.0
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7 « 8754 8 « D102 9 «E96
Syd v Kn95 Vast v K63 Nord vED102
Alla ¢ KD75 Ingen ¢ EK72 ov ¢ 9542
#EK #ED6 «D8
4E93 &KD2 4 EKKn93 4854 4 KD103 4Kn74
vD102 vK vEDKn7 v1054 v4 v Kn653
¢ E104 ¢ Kn986 +10 + 9854 ¢ED83 ¢ KKn6
#D963 #Knl10872 #Kn97 *K42 #Kn1094 #K73
«Kn106 476 & 852
vE87643 v 982 v K987
¢32 ¢ DKn63 ¢ 107
#54 #10853 #E652
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
38 33 44V-2 v5 200 57.0 -57.0(38 33 INN= 44 90 380 -380(10 1 4e4V-2 vA 200 45.0 -45.0
8 3 2vS= «6 110 350 -350(10 1 3a4V-1 +A 50 280 -280( 9 2 2vS= &K 110 220 -22.0
6 5 3#0-1 «J 100 340 -34.0(40 31 34 V-1 +¢K 50 28.0 -28.0(34 37 2vS= «J 110 22.0 -22.0
4 7 24V= @A 90  -13.0 13.0(39 32 3¢ S-2 4A -100 -120 120 8 3 3+#V-1 vA 100 190 -19.0
34 37 INO= v5 90 -13.0 13.0( 4 7 24 V= A -110 -120 12.0(39 32 3#0-1 vA 100 19.0 -19.0
9 2 3vS-1 #4 -100 -140 140| 6 5 24 0= +A -110  -120 1201 4 7 INN= v2 90 16.0 -16.0
40 31 3v N-1 #Q -100 -140 140 8 3 2vV=  v2 -110 -12.0 12.0|36 35 3v S- oK -100 -30.0 30.0
10 1 3#V= K -110  -19.0 190 9 2 24 V= ¢K -110 -120 120 6 5 24 0= v7 -110 -32.0 32.0
36 35 INO+1 v7 -120  -23.0 23.0(|34 37 24 V= +A -110  -120 12.0|38 33 24 V= ¢T -110  -320 32.0
39 32 2NO+1 &J -150 -30.0 30.0(36 35 24 V+1 +A -140  -22.0 22.0|40 31 34 V+1 £Q -170  -49.0 49.0
10 « D9875 11 753 12 « ED10642
Ost vED8 Syd v KDKn Vast vED
Alla ¢ 62 Ingen +5 NS ¢+ D42
#1098 #ED10765 +D9
« EKKNn102 «4 « KDKn2 & 1096 & K95 « Kn87
v6 v K9752 v 642 vE753 v Kn5 v 872
¢ DKn75 ¢ EK103 49843 ¢ EDKn1062 ¢ EKNn65 ¢ K873
*Kn75 »D43 *42 *- #Kn1032 #854
463 ~E84 3
v Kn1043 v 1098 v K109643
+984 ¢ K7 + 109
#EK62 #KKn983 #EK76
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
8 3 5¢0-2 «A 200 65.0 -65.0(39 32 3NS= &K 400 76.0 -76.0(34 37 6v S= #J 1430 118.0 -118.0
4 7 3NO-1 A 100 43.0 -43.0( 4 7 5¢DO-2 #3 300 53.0 -53.0(40 31 3NS+3 #3 690 80 -80
34 37 3NO-1 8 100 43.0 -43.0(36 35 5¢DO-2 #3 300 53.0 -53.0(36 35 44 N+2 #4 680 70 -7.0
40 31 3NV-1 #T 100 43.0 -43.0(10 1 4#N= ¢A 130 160 -16.0| 4 7 4vS+1l vJ 650 -2.0 2.0
6 5 3¢ 0= @A -110 0.0 00| 9 2 3NS-1 &K 50 -25.0 25.0(10 1 4vS+1 A 650 -2.0 2.0
10 1 3¢ O= ¢4 -110 0.0 0034 37 3NS-1 ¢4 50 -25.0 25.0(|39 32 4v S+1 &T 650 -2.0 2.0
9 2 3¢ 0O+1 K -130 -8.0 8.0(40 31 3NS-1 «Q 50 -25.0 25.0( 6 5 44 N= ¢7 620 -10.0 10.0
39 32 3¢ O+1 &T -130 -8.0 80| 6 5 54 N-2 &K -100 -41.0 410 8 3 44 N= 48 620 -10.0 10.0
36 35 BNO= 46 -600 -89.0 89.0( 8 3 5#S-2 K -100 -41.0 410 9 2 44 N= ¢2 620 -10.0 100
38 33 3NO= 46 -600 -89.0 89.0(38 33 5#S-2 «K -100 -41.0 41.0|38 33 24 N+2 7 170 -97.0 97.0
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